> A
A & 0l & AF 2 E A A
20168 & =0l & L BHSI A 3 H ot
S RECI ()
HE: SHE HANLSY
el AFE BHBR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=)y 10,635,656 7,234,291 3,401,365
EHE JAH2Y 6,676,409 3,112,336 3,564,073
AEEE S &2 506,026 289,943 216,083
NEBMo S8 29 63,051 60,911 2,140
201 Yot Y| 55,771 53,631 2,140
01 At 22l 48,940 46,800 2,140
O1 eet=ZHl 42,940
DARES L 2257Y 550,000& =122 6,600
D>20153| HHE HYMEZ A () ol
110,000& 80 8,800
D>20153| HHE HYMEZAAM M (HRH
H XEH 123,000& 80 9,840
D20152| HAE MEMEZ2LAN BAAA
o1 7,000& * 100 700
20152 HHE MREDAM B3 HA HE&E
gl 15,000, 000& * 14! 15,000
PRAAME M2l 2SuUA
2,000,000& » 14l 2,000
O3 2d=¢ 6,000
DALMTAMAA = 100,000 »321 %20 6,000
02 =224l 6,831 6,831 0
O1 33232 ¥ HMA 6,831
DEARASRRY HEESEEE
23,000& »2972! 6,831
202 (44l 7,280 7,280 0
01 S LHOIYI 7,280 7,280 0
O AHYRF=E Kl 7,280,000 » 14! 7,280
Sdot) SHs AHerael 46,210 45,970 240
201 Let249] 37,570 37,330 240
01 At 22l 21,970 21,730 240
O1 gt=&Hl 19,240
DAREE ¥ ABE 28 220,000&*123 2,640
DAZHE LI2IEHGL)EANYEID =22
(20,000:& 20024 )+( 10,000 & 80024 ) 12,000
DEAAMAMIZ B (201 A)
1,100,000 14 1,100
DEsacl dXUE 500,000& 55 2,500
PEEE HIl =2 5,000& =100& 500
DAt SAF 2HIE BN EB I N2 (
U= F) 100, 000& 52| 500
O3 2d==¢ 2,730
DAt RS BA+Y
70,0003 501 «53] 1,750




Y 4m for
™02 =
o o &

JAH=2E
A2l

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CHON Bote el BA+g
70,000& *721 %23] 980
02 3524l 15,600 15,600 0
O3 A& &l ®AXbl 15,600
DA T2 RAES
500,000& x12& 6,000
DRFIDEIED] AZEQNH KANES
800,000& x12& 9,600
202 044 8,640 8,640 0
01 2L Y| 8,640 8,640 0
OHSFHR2FZ ofb| 720,000 x12& 8,640
SSIE 22 396,765 183,062 213,703
201 Bt A H| 166,765 183,062 N 16,297
01 At 22l bl 7,998 12,318 N4 ,320
O1 gergyl 7,998
PESSE(XNY) 2B +48
253,000 20 A *33] 1,518
D> AAFZE| 2 A 2HIE MU Z2 D22/
XHEF0H2E) 160, 000& *33] 480
DAEEE st 22X 2= 001X M2
6,000,000& » 14! 6,000
02 3524t 158,767 170,744 AN11,977
O1 2222 % HA 36,100
DNEEZ SI0AIE =A
100,000& = 16CH =10 16,000
DEtEAINEREE= 70,000& «13CH x23] 1,820
> Xt S XHAl 6,030
osEgdd™ 130, 000 ~4CH x 13| 90/ 100 468
O&EEEE 520,0002 x2CH*12] *90/100 936
OsSEUH 860,000 «2CH 18] *90/ 100 1,548
osg0=2&d  750,000& 301131 %90/100 2,025
OsEs - 28 90,000 *5CH *13] %90/ 100 405
OsEUE 150, 000 «2CH x 13| 90/ 100 270
oOsELd 70,000 «2CH * 13! %90/ 100 126
OSE2ZE - E 140,000 =201 131 *90/100 252
DASIAHZSEA =242(52 - 58 - U=2H
xHek) 25,000& x22CH x13] 550
DASIAEE = 11,700
ossA -5 -UHE 450,000 *x8CH *x13] 3,600
OsE2U=sHEY 400,000 *x3CH 13l 1,200
Os8A -5 - UE 700,000& *x7CH*x13] 4,900
OEE - 2 ¥ 500,000 *4CH 13l 2,000
O4 Xt - dety] 122,667




2N
X ZH -
L= B

el

Y 4m for
™02 =
o o &

JAH=2E
A2l

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
> Xt 2= X8l 122,667
osE4™ 4,987,000& =4CH 19,948
O&EEEE 6,867,000 *x2CH 13,734
OsEUH 10,000, 000& *=2CH 20,000
OSEUSEE 3,080,000& =3CH 9,240
OsE=d 3,993,000& x5CH 19,965
OsEUH 12,000, 000& *=2CH 24,000
o414 3,416,000 «2CH 6,832
OEEH 4,474 ,000& =2CH 8,948
405 X+HaHF SHI 230,000 0 230,000
01 JtMt = S F SHI 230,000 0 230,000
Odsz&el Xt wi 230,000
DEAE &dE 40,000,000 = 1CH 40,000
>OoNE-SE 1505 85,000, 000& = 1CH 85,000
DHARE-SE 332S 105,000, 000& = 1CH 105,000
SSHQOl A2 853,840 691,840 162,000
SHMar22| 853,840 691,840 162,000
201 YEr2 Y| 850,000 668,000 182,000
01 AFR2t2l bl 52,000 55,000 A 3,000
O1 get2d | 52,000
DESMHaRAL 2dFHIGET
1,000,000& *x203] 20,000
DERMAZL XEESHEE2
2,000,000& *153] 30,000
>2UlE o2 200,000& =103l 2,000
02 332494l 798,000 613,000 185,000
O1 222=2 % HA 785,000
DRELZ(AUSZ LDANAN &5)
250,000& x12& 3,000
== NP == 62,500,000& *43| 250,000
> X2 HE S H S 532,000,000& * 14 532,000
O3 A& &HI K X HI 13,000
DAISMAMAHAE S22 10,000,000 =14 10,000
DESMAZZAIAE SIS
3,000,000& * 14 3,000
202 04| 3,840 3,840 0
01 2ol 3,840 3,840 0
SEMAZZ PR O] 320,000& x12& 3,840
A2t el 5,316,543 2,130,553 3,185,990
A2 22| 1,975,666 1,928,033 47,633
101 2124 1| 254,257 301,819 NA4T,562




M 3

o £s AANSY

& FArzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 254,257 301,819 NAT 562
=8 2 28 HA 227,225
>llEs 49,6003 801 +249 98,804
PEEE 49,6003 80152 20,634
> a0z 49,6003 *821 249 x4 /12 32,935
D> & Mz AlH| 130,000 x821x12& 12,480
>us2 X 120,000& «821 12 11,520
> AX =G 49,6003 x821*12 4,762
DEUZERE 9,300 82196 Al 2+ 7,143
DALEBEZ 188,275,000 *3.035/100 5,715
DEIRABE= 5,714,000& »6.55/100 375
>DIDHSEER 188,275,000% *4.5/100 8,473
PONEEE= 188,275,000 *1.5/100 2,825
DAMTHEE S 188,275,0002 1.8/100 3,389
DEIXNSH EE3 188,275,000& *1/12 15,690
DEAIZA L=SH (oS, 85,248 5)
310,000& »82! 2,480
OIBSE AME2ZEX 27,032
>olEs 49,6003 x101%249 12,351
PEsd 49,6003 »101+52& 2,580
D a0z 49,600 #1901 %2492 x4 /12 4,117
D> & oz AlH| 130,000& =121 x12& 1,560
>us2 Xl 120,000& =121 x12& 1,440
> AX =S 49,600 101122 596
PALEEZ 22,641,600& *3.035/100 688
PEIRYBEZ 687,200& x6.55/100 46
>IBHZEER 22,641,600 *4.5/100 1,019
PNESBES 22,641,600 *1.5/100 340
DMTHEE S 22,641,600& *1.8/100 408
DEIXNSH =3 22,641,6002 «1/12 1,887
201 L2l 1,302,309 1,083,282
01 At 22l 63,328 58,328
O1 et=2Hl 60,238
DARES ¥ ABF P2 200,000& 123 2,400
DAY BEEH SF(100L E)
2,840 *130& 128 4,431
DAY BEEH SF(500 )
1,540 x180& » 128 3,327
Dt FAEE 7Y
20,0003 4100 2128 9,840
DA AHMHES 7
10,000& x4 100 A+ 123 4,920
DABHIIE NMEH 22 10,0002 4101 «122 4,920




M 3

o £s AANSY

& FArzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEX 7Y 40,000 =178t A 128 8,160
DHHEES 2 30,0003 x20&t A %122 7,200
D 10,000 8200 A+ 12& 9,840
>COSE PY(BES) 200,0002 *14! 200
DEALAIE HEA Y 7Y
5,000,000& »14! 5,000
O2 AW =HI 570
DAGOFM 2| X ot 2e| WS
80,000& »2¢I 160
DAAUHADIID 4% W= 80,000& »2¢! 160
>s2)l otdze| Xt W=s 25,000 »20I 50
>AEI| etE e A W= 100, 000& 29! 200
O5 =&l 2,520
DUHMROEE OF2t, FSL22X
7,000& *321%103| x12& 2,520
02 =224l 1,238,981 1,024,954 214,027
O1 22232 % HMA 504,502
DEAMN HIR= 38,000,000& x12& 456,000
DEA MotER23 3,000,000& x12& 36,000
>EAM XSt=AER2= 200,000& =122 2,400
DEAMN BIFINERES 2,000,000& »23| 4,000
DEAMN USRLRES
350% *37,081.62m x0.82x0.5 5,322
DOFAAID BH&aMY 282 150,000 x 14 150
> Agrot™ 2| Xt 3| 50,000& »2¢0I 100
D&EJItME e 2 BELAE Halt
170,000& 14 170
DEHU=d2 &3 H3IHl 120,000 32 360
O2 ¢zl 325,979
DHetg ZIE2LH(2€)
9483 x135nm* *G Al 2H+72 2 »2[H 110,575
DeerE H24](320RT)
9483 «108nm *6 Al 2H+72 2 »2[H 88,460
DR SN2 (2€)
6743 x135nm’ *G Al 2H 422 »2[H 45,859
DegrE H24](320RT)
6743 «87nm *G Al 2t 422 »2[H 29,554
DHAZEIE R 1,701& %9004 =13l 1,531
>ROF 20 TE Xl 224l Xs
50,000,000& =14l 50,000
O3 A€ &Hl |Xdl 408,500
DAEE FIItEEZ 13,000, 000& *23| 26,000
Dot A 6,000,000& »23| 12,000
DZ A& DD 2 ALAIE (ROF1CH)
200,000& «1CH 200




M 3

o £s AANSY

& FArzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEIHEET =2 10,000, 0002 14! 10,000
DOtA HIIEM =2 400,000 » 14! 400
DZAUADID SAHME(EL 2 20)
200,000& »2[H 400
D& EIIetEH A 150,000 »8CH =12 1,200
b5 o Ee B
160,000 8 A+ 12& 15,360
DAgotd e A 1,700,000& 1228 20,400
PTOE SHAS HEEE 8
11,000, 000& 14 11,000
DAEE Sz 1,500,000& = 12& 18,000
DHAAS 1,300, 000& *52] 6,500
DHEHA (LAY JNHE FIUE 25 5)
8,000,000& *43] 32,000
DAESIE EA 18,000& 600 m* 10,800
DM AR 15,000& 100 E *23l 3,000
D> 1BSA AlAEIZe] 9 4,200,000 1228 50,400
DERAINI M2(ELH W2, ST 22
o) 4,000,000& +6CH 24,000
DRI RA(BEZF S XL, Weted)|
2H14]) 10,000, 000& 14! 10,000
D> IBSA M2YE 41,113,000% *8/100*1. 1 3,618
D> IBS&! CATV(E U TV)
54,888,000 *8/100*1. 1 4,831
DMI2 A2 (H, S0, =8 214)
5,000,000& » 14! 5,000
> || NI 2H(ROFEL2{)  6,000,000% *1CH 6,000
DROF M25Hl o HE 442
150,000& 120 18,000
>ROF 2&HI (N &EH=>0UHXIHH)
45,0003 *600= 27,000
DROF CHOIRE2E XIHEFE F At
1,200,000& 23] x12& 28,800
DROF CHOI2E =& G024 SHHI
5,000,000& x23l 10,000
>ROF A& & AH| 1,000, 000& *23| 2,000
>ROF = Xl&2|dl 10,000, 000& * 14 10,000
DHROHESE ELEY
3,465,900 121 x12& 41,591
202 4l 9,600 9,600 0
01 = LH Yl 9,600 9,600 0
OF AL Xl 2tel 800,000& »12& 9,600
206 M= Hl 77,500 57,500 20,000
01 =8l 77,500 57,500 20,000
OSZEY =dAS 2,000,000& 14! 2,000




M 3

o £s AANSY

& FArzel (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
oHgsEs 2 JIAHSF 1,500,000 =14l 1,500
O3XJIEH #Y 9,000,000 14| 9,000
OFA HIIXTH 2 12,000,000 * 14! 12,000
Osa XM + 3,000,000 =14 3,000
OaziAsd 2¢ 50,000& 50 =122 3,000
OoagEs 28 & WA 2,000,000& »14 2,000
ORUM=Y M= 15,000,000 * 14! 15,000
ORUsE MZ 5,000,000 14| 5,000
SUIA M2 5,000,000 14| 5,000
ORDF JIH& XM ¢ 5,000,000& 14! 5,000
ORDF D12 & AZFUH(BHEQ 2F)
5,000,000& 14! 5,000
ORDF JIH & HADI|(HEH)PY
45,000 *200H 9,000
OROF JIH A S+ 1,000,000& * 14! 1,000
401 Al HI R 201 I 332,000 398,000 A 66,000
01 A& HI 332,000 398,000 A 66,000
OBM EHANE RAES SAM
20,000,000& =14l 20,000
OBM HIIANE RANES= SM
48,000,000 14! 48,000
OFAN H20EE,23 AMPA LED WX S A
90,000,000& * 14! 90,000
O&EIIA =HiAEr E==3 A 39,000,000 »14 39,000
OBMN 22AE RAES= SM

15,000,000 * 14! 15,000

t

10,000,000& * 14! 10,000

OBM AFANEE FRNEF= SM
50

,000,000& =14l 50,000

20,000,000& » 14| 20,000
O38E sed=z 2L SAL 30,000,000 =14 30,000
OsdJl FNE=3A 10,000,000& * 14! 10,000
SHS AL AIEE=3 A 501,890 202,520 299,370
401 AIEHIZ 2 I 501,890 202,520 299,370
01 A& HI 500,000 200,000 300,000
OSHS AN AMEESSA
500,000,000 =14l 500,000
03 A2 2 THHI 1,890 2,520 A 630
OSHS AN ANEE=SAL AIZR I
1,890,000& =14 1,890
SeS FUUHE &= 2,838,987 0 2,838,987
401 AIEHIZ 2 I 2,838,987 0 2,838,987




M 3

o £s AANSY

& FArzel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 2,790,652 0 2,790,652
Os&ts =eHdE A= 2,790,652,000& 14! 2,790,652
02 2eltl 41,302 0 41,302
O=Z6E ZOIME S
2,790,652,000& x1.48/100 41,302
03 Al S THHI 7,033 0 7,033
Osdts FLUHMEH M= 7,033,000 » 14! 7,033
Hees(3H) 3,824,600 3,989,350 A 164,750
SHNE 3,824,600 3,989, 350 A 164,750
Xl 2 Xy &b 2 3,824,600 3,989,350 A 164,750
311 X+ 201 Xk &k & 549,600 664,350 A 114,750
01 Al - T - FXNENLII XL S0l AHabE 480,000 540,000 A 60,000
OS3EA(EBAL, NURSHE)SAS 0lA
480,000,000& =14 480,000
05 JIEFXHY S Ol A& & 69,600 124,350 A 54,750
O&EANZHIJIZ Ol Atate 69,600
DEAFAFA AE 48,000,000 14! 48,000
PIH2sFUMEH A= 16,200, 000& 14! 16,200
Dot=2dsFHEH A= 1,500,000 14 1,500
DHRSFRMEH AF 3,900,000 =14 3,900
601 XL Sd=4a e 3,275,000 3,325,000 50,000
01 Al-Z - AN =HL=d=o 1,500,000 1,500,000 0
O3S EA(EHA, MRURSHEH)EXNS 3
1,500,000, 000& 14 1,500,000
05 JIEt =AY =34 e 1,775,000 1,825,000 A50,000
OBMEHIIIS ¥34& 1,775,000
DRFAEAN HE 1,600,000, 000& 14 1,600,000
DI2sFMEH A= 60,000,000 » 14! 60,000
PUIRBEASTOME AS
50,000,000 » 14! 50,000
DS FRMEH &S 65,000,000& =14 65,000
HE2AAH 134,647 132,605 2,042
ol 2E Fl (3 A1) 103,586 101,529 2,057
ol 2 A (3 H ) 103,586 101,529 2,057
101 144 dl 103,586 101,529 2,057
01 2= 103,586 99,123 4,463
OAlZte 28+ 9,332& #3721 x300A| 2t 103,586
Jl2ZH(3 A W) 31,061 31,076 A15
Jl2Z8 (3 H D) 31,061 31,076 A15
201 Let2d] 19,261 19,276 A15




M 3

ol HY2 YA

el D123 4I(3 A

SA BB O () - MM - HES 0l &+ o4 il

01 At 22l 17,176 17,176
O1 get=2Hl 7,600
>DEAMA2IE S 6,600,000 » 14 6,600
>EAMFZH 1,000, 0002 14 1,000
O5 =&l 9,576
Dot s 22K 7,000 380133 x12& 9,576

02 22224l 2,085 2,100
O1 &322 % AMA 2,085
DRELZ 1,930&*90H 123 2,085

202 04 HI 7,120 7,120

01 = LH o4 1l 7,120 7,120
OJlege+=adutl 7,120,000 %14 7,120

203 22 E T H| 4,680 4,680

TS 4,680 4,680
ORMEgAREAY 390,0002 * 122 4,680




